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3.1  TradeBalance
3.2  Equilibrium Output and Trade Balance
3.3  Effects of Increase in Domestic and Foreign Demand

In Chapter 1 we looked at aggregate demand for domestic goods in
an open economy. It was summed up in Equation (4) as

Y=C+I+G+NX

If we keep all the variables that affect demand, (discussed in Chapter

1); taxes, interest rate, government spending, foreign income (or

g%ltp“t)’ and real exchange rate constant, we can plot the following
'agram in Fig, 3.1 below.
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Equi{ibri:mz Output and Trade Balance ' 17

[n Panel (a), the line DD plots domestic demand (C + [ + G) as a
function of output (or income), Y. The slope of the function DD is:
positive but less than one. This is explained by: an increase in output
(or income) increases demand but less than one for one.

To arrive at the demand for domestic goods, we must first subtract
imports. This is done in Panel (b), and that gives us the line AA. AA
represents the domestic demand for domestic goods. The distance
between DD and AA represents the value of imports. Since the
quantity of imports increases with income, the distance between
AA and DD increases with income.’ '

Note that:

(i) AA is flatter than DD. As income increases, some of the
additional domestic demand is for foreign goods rather than
~domestic goods. That is, as income increases, the domestic
demand for domestic goods increases less than total domestic
demand.

(i) Secondly, as long as some of the additional demand is for
domestic goods, AA has a positive slope. An increase in income
leads to some increase in the demand for domestic goods.

Finally, we must add exports. This is done in Panel (c), and gives us
line ZZ, which is above AA. The line ZZ represents the demand for
domestic goods. The distance between ZZ and AA equals exports,
X. However, because exports do not depend on domestic income
(they depend on foreign income), the distance between ZZ and AA
is constant, which is why the two lines are parallel. Also, because
AA is flatter than DD, ZZ is also flatter than DD.

From the information in Panel (c), we can explain the behaviour of
netexports - difference between exports and imports - as a function
Of Output. For example, at output level Y, exports are given by the
distance AC, and imports by the distance AB; so, it follows net
€Xports are given by the distance BC.

T.hls relation between net exports and output, is represented by the
line NX (net exports) in Panel (d). Net exports are a decreasing
function of output (income). As output (income) increases, imports
‘Ncrease and exports are unaffected, so net exports decrease.
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Call Yoy (TB for trade balance) the level of olu tputat which
of imports equals the value of exports, so‘ t m.t net exports are equ,
to zero. Levels of output above Y. lead to hlgher.lmports, and t,
trade deficit. Levels of below Yyg lead to lower imports, and
trade surplus.

Vi, |
the valy,

The goods market is in equilibrium when do
the demand (both domestic and foreign) for

Y=2Z

mestic outpyt equal
domestic goods.

S

Collecting all the relations for the components of demand -
C=C(Y-T), |
I=1(y, 1),
G=gG,
M=M(y, ¢),
X=X (Y*,e),
We get,

Y=C(Y—T)+I(Y,r) *G-M(Y, g + X (Y*, ¢)
determineg out
1ven, from taxeg to

. (1

de ' i
or ?;i’;i‘g Measureq on the vertical axis, and outp"
ch N on the hor.lzontal axis. The line ZZ plot
©). 2Z is WOUtput. Thls line just replicates the line 7/
RWard sloping but with 4 slope less than on®

demand a5 5 fun
in Fig. 3.1
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Eqm'librimn Output and Trade Balance 19

Equilibrium.output is at the point where demand equals output, at
the intersection of the line ZZ and the 45-degree line: that is point A
in Fig. 3.2, Panel (a), with associated output level Y.
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Fig. 3.2 : Equilibrium Output and Net Exports

Panel (b) of Fig. 3.2, replicates Panel (d) of Fig. 3.1. It shows net
€Xports as a decreasing function of output. There is, in genefa], no
reason why the equilibrium level of output, Y, should be the same
as the level of output, at which trade is balanced, Y

In Fj ey .
en f;% 3.2, ‘the equilibrium output is associated with a trade deficit .
Qual to distance BC. Note that Fig. 3.2 could have been drawn

dif ' clow s
wi fﬁrgntly, S0 equilibrium output could have been associated instead
ith a trade surplus. |
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In this part of the chapter we c-onsider how changes in d
and foreign demand affect equilibrium output ang the im I_Omgsn(
for trade balance. | Plicatiq;,

(1) Increase in Domestic Demand

Sup.pose that an economy is in a recession and the governm
decides to increase government spending in order to incr ent
S v €ase

domestic demand. The effects on out : -
explained in Fig. 3.3 below. output and trade balance are|
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Equilibrium Output and Trade Balance 21

Before the increase in government spending demand is given by
ZZ in Panel (a), and equilibrium is at point A, where output equals
Y. We assume that trade is initially balanced, so in Panel (a) Y = Y5 .

When the government increases spending by AG, at any level of
output, demand is larger by AG, shifting the demand relation up by
AG from ZZ to ZZ'. The equilibrium point moves from A to A’, and
the equilibrium output increases from Y to Y’. The increase in output
is larger than the increase in government spending as there is a

multiplier effect. '

The impact on trade balance is seen in terms of a trade deficit equal
to BC. Imports go up, and exports do not change. This is because
government spending does not enter the export relation nor the
import relation directly. Thus, the relation between net exports and
output in Panel (b) does not shift.

Secondly, not only does the government spending now generate a
trade deficit, but the effect of government spending on output is
smaller than it would be in a closed economy. In terms of the diagram
the smaller the slope of ZZ, the smaller the multiplier. In the diagram
the demand relation ZZ is flatter than the demand relation in a closed
economy DD (shown in Fig. 3.1). This means that he multiplier is
smaller in the open economy.

The reason for the trade deficit and the smaller multiplier is the
same. Since the economy is open, an increase in demand now falls
not only on domestic goods but also on foreign goods. So, when
Income increases, the effect on the demand for domestic goods is
smaller than it would be in a closed economy, leading to a smaller
multiplier. Also, since, some of the increase in demand falls on
tmports - and exports are unchanged - the result is a trade deficit.

2‘;22 tV\.'O"imprlica!tions are important. In an open economy, an

i :s in domestic dem_and has a smaller effect on output than in

e ;conomy and an adverse effect on the trade balance. In

- lore open the economy, the smaller the effect on output
€ larger the adverse effect on the trade balance.

|
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(2) Increase in Foreign Demand

S se now that there is an increase foreign output, that i
Suppose na

s dr

increase in Y*. This could be due to anincrease in foreign govery, Mer,
1nc 1= » "

sending or any other reason. It is not necessary for ys tq knoy,
S}. g & .

exactly where the increase in Y* comes fr(?m. 'The effects on domesy;
outptit and trade balance are explained in Fig. 3.4 below.
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Equilibrium Output and Trade Balance 23

Fig. 3.4 shows the effects of an increase in foreign activity on
domestic output and the trade balance. The initial demand for
domestic goods is given by ZZ in Panel (a). The equilibrium is at

oint A, with the output level Y. Assuming that initially trade is
balanced, the net exports associated with Y equal zeroand Y =Yg

The line DD shows the domestic demand for goods C+ 1+ Gas a
function of income. The line DD is steeper than ZZ (See Fig. 3.1).
The difference between ZZ and DD equals net exports, so if trade is
balanced at point A, then ZZ and DD intersect at point A.

Suppose now there is an increase in foreign output, AY*. Higher
foreign output means higher demand, including higher foreign
demand for domestic goods. So, the direct effect of the increase in
foreign output is an increase in domestic exports by the same
amount, which we denote as AX.

This implies:
(i) For a given level of output, this increase in exports leads to an
increase in the demand for domestic goods by AX, so the line

showing the demand for domestic goods as a function of output
shifts up by AX, from ZZ to ZZ'

(ii) For a given level of output, net exports increase by AX. So, the
line showing net exports as a function of output in Panel (b)
also shifts up by AX, from NX to NX'.

The new equilibrium is at point A’ in Panel (a), with output level Y'.
The increase in foreign output leads to an increase in domestic
output. The channel is as follows. Higher foreign output leads to
higher exports of domestic goods, which increases domestic output
and the domestic demand for goods through the multiplier.

We know that exports go up, but the question is does the trade
balance deteriorate or improve? Could it be that the increase in
domestic output leads to a large increase in imports and that the
trade balance deteriorates? The answer is no; the trade balance does
not deteriorate.

W}}en foreign demand increases, the demand for domestic goods
shifts upward from ZZ to ZZ'. But the line DD which gives the
domestic demand for goods as a function of output, does not shift.
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Cy the distaex:]ce DC, the demand for domesgf: %;)r?gl: lé gliven by.D A
Net exports are therefore given by the . e i h-'l VYhICh is
because DD is below ZZ', is necessarily positive. Thus, while impoyy,
increase, the increase does not offset the increase in exports, and

the trade balance improves.

In conclusion, we can reiterate two results:

(i) An increase in domestic demand leads to an increase ij
domestic output, but also leads to a deterioration of the trade
balance. (Our discussion has been in terms of an increase in

government spending, but we would have reached the same
conclusion even if we had considered a decrease in taxes or an
increase in consumer spending, etc.)

(i) Anincrease in foreign demand (whatever the source similar to

what changes were discussed in the case of domestic demand)
leads to an increase in domestic output and in improvement in
the trade balance. -

Both these results have important implications. Namely:
: 8

Shocks to demand in one country affect all other countries.
5 .

;r}tl e. strongc?r the trade links between countries, the stronger
€ Interactions, and the more countries move together.
These interactiong : ‘
i S complicate th i makers
especially for fiscal policy]? © daskof. polisy

domestic demand
Explain hOW th y .

o : e tr \ . : y o oy
fOI'EIgn demand e balaan Chanzes when tharae ic an increast |

Scanned with CamScanner



